Agueduct Primary Scho.ol
Maths Calculation Policy

This policy has heen largely adapted from the White Rose Maths Hub Calculation Policy mw.ith
further material .added. It is .o working docuwment .and will be revised .and amended, as
necessary. This is particularly important as we progress through ouwr Teaching for
Mastery journey. Different variations have been included to provide teachers with a range
of tools to support pupils in their grasp .of number and calculation. To ensure .consistency
for pupils, it is important that that the mathematical language used in maths lessons
reflects the vocabulary used throughout this policy.

Owr Strapline Ouwr Values
Building tomorrow, [eading the way. Positivity, happiness, learning, kindness, safety & .respect.
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Addition
Year 1
Year 2

Year 3

Year 4+

Subtraction
Year 1
Year 2

Year 3

Year 4+

Multiplication
Year 1
Year 2

Year 3

Year 4+

Division
Year 1
Year 2

Year 3

Year 4+
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A.ddition



Strategy
Combining
wo parts to
make .a
whole: part-
whole model

s

Use part, part whole model.
Use cuhes to .add tw.o rumhers
together as o group or in o har.

Use pictures to .odd tw.o numbers
together as o group or in .o bar.

L $§ §

CICC 0

3 8als 28als

8=5+3 5+3=38

Use the part-part-whole diagram as shown
abhove to .mowe into the .ahstract.

support varied fluency:

8§=7?+3
5+7=28
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S5+12=17

Starting at
the bigger ey e N
number .and T 40 11 12 13 14 15 16 17 18 18 20 PMWWGWWMHJOWWW
counting on count on the smaller numhber to find your
Start with the larger number on the bead string 12 + 5 =17 P
and then count on to the smaller number 1 by
1to find the answer. Start at the larger ruumber .on the
number line and cournt on in ones .or
in one jump to find the answer.
7 + L=]|

Regrouping to
make 10.
This is an
essential skill for
column .addition

6+5=11

— .
eseeTeTeee

Start with the bigger number and use
the smaller number to make 10.

m Use ten frames.
EEEH

= “UJM

Ldd g

Use Rekenreks.

O
(- -

3+ 9 =

Use pictures .or a rumber line.
Regroup or partition the smaller
number wsing the part, part whole
model to make 10.

9 + 5 =[14] a
Gl (s ‘

now’?

If I am at seven, how many more do I need
to make 10? How marny more do I add on
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f withi 2 more than 5. =3 = =5 Emphasis should he on the language

20 ‘I .more than 5 is equal to 6.
‘2 more than 5 is 7.
‘8 is 3 .more than 5.
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Adding 50 =30 =20 Use representations for hase ten. 20 + 30 = 50
multiples of 70 = 50 + 20
| —
Model wusing dienes and head o
sbrings.
Use knowan Explore commutativity .of addition by
ZO / = 20 ~[] Explore the concept .of i}w.irwzr/sz szQtWIw}wp
\g [+ ]=20 20-[ =[] of addition and subtraction and wse this to
Part-part- [(J+[J=20 20-[]=[] check calculations,
whale
Children explore ways of making D«1=16 16—1:[]
numbers wiithin 20. 1*[:]=1e 16—[:]=1
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EID|:|+ DI:ID _ DEIDDEIU

J00- 100~ CHDCu

I+ = T
-

Children draw representations of H,T and O

3+ 4 =7

Leads to

30 + 40 =70

Leads to

300 + 400 = 700

Bar M.odel

Q00 eeee@

3+ 4 =7

AR

7+ 3=10

23 + 25 = 48
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Add a tw.o- 17 + 5 =22 17 + 5 =22
Adigit rumber 17 + 5=22
and ones Use tens frames to imake ten. \ Explore related facts
17 + 5 =22 22
Children explore patterns. @ 5417 = 29
22-17 =5 17 5
= 16 +7
7o " 22 Mo 4 22-5=17
27 + 5 32 @
16 20 23
8888 = lead into recording in column format to
@ Use part-part whole and umher line reinforce place wxalue and. prepare children
[ .!! to model. Other wariations of the for  formal written .methods with larger
:l_il_ above occepted. ~alues
l
Add .a tw.o- e
Aigit number o 27 + 30 27 + 10 = 37
and fens " +10 +10 +10
: - ' i 27 + 20 = 47
25 + 10 = 35
i % % % 27 + __ = 57
Explore that the ones digit does
e not change. 27 37 47 57
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Add two tw.o-

Combine to .make |0 first if
possible or hridge 10 then add
third digit.

Regroup and draw representation.

. g _
WJ,.-{“" 15

10

Op
L. Opg Or +20 +3 2
Adigit nuwmbers //DD e +20 b 25 + 4
. Op
. " 47 67 72 47/\\67 ;0/\72 /
20 + 5 40 + 7
Model wusing dienes, place v.alue Use .number line .and hbridge ten 20 + LO = 60
counters and nuwmicon. using part whole if necessary.
5+7 =12
60 + 12 =72
Lead into recording in column format, to
reinforce ploce value and prepare children
for formal written methods with larger
ralues.
g “‘ N OO " . (A 7 +(6) = +7]
< 3P v O

= 17

C.omhbine the two numhbers that nwkz/budgz
ten then add .on the third.
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Column
addition (No

regrouping)

Add tw.o or
thuree two or
three-digit

Using dienes.

T (o}
OO0 | mess

[sussassass} Il-l.

Add together the .ones first, then

the tens.
[ Tens | units |
EEEE
HE B
2 9
©| © | ® |
P0E0 0000 §2u42=

Mowe to wsing place v.al
cournders either .alo ide or
aftermw.ards.

Children imowve to drawing the

counters using a place value fr.

or using equivalent practical
equipment.

Tens Ones

used to reinforce objective.

237 + |4 =

Add the ones (or equivalent T
wvalue) first, then the tens, then the
hundreds.
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Column

Children can draw a representation

| 1000 | 100s | 105 | 1s
addition with | ®®® CeeE 00 of the grid to further support their 20 + 5 536
reqrouping. ®e ® 000 understanding, carrgying the ten =
Hundreds Tens One: § _|_ “ ’; — S —
g oo/ oo 3. 60 ke 621
] o | oo a7 —
= 11
ol |
Y B Start by partitioning the .numhbers before
] ® formal column to show the exchange..
Exchange ten ones for a ten. 1
Model wsing place value counters
and dienes.
©)
OOCE 000
0]0}
®® 0]10]0]0)
0]00)
L6 + 27 =73
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Estimate the
answers ko
qQuestions. .and
use irwerse
operations to

anawers

Estimating 98 + 17 = ?

100 + 20 = 120

Building wup known focts and wusing them to
llustrate the irwerse .and to check answers.

6 - 18 = 98

6 - 98 = 18
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Hundreds

Estimate .and As per Year 3
AUSe Arwerse
,o,p,ar,a,ti,o,rus,to
check
answers to a
calculation
Yh—Add Children .continue to wse dienes .or | Draw representations using ploce Continue from previous work to carry
numbers. with place volue counters to add, volue grid hundreds as well as tens.
up ko 4 z»cdw.ngxngizn,onezs f,o,r,a.,ten
- and ten tens for a hundred .and Relate to .meo and measures.

digits £ ney

ten hundreds for a thouwsand. e :. ee oo

3 || e

315017
396
3913

+
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Y5—add
numbers with
.more than 4

A/s,gie,a,r 4

Tens

one tenth

hundredths

%

Introduce decimal place v.alue
counders and model exchange for

addition.

237+ 8179

QOOOD IO
o0

728
+546
127 4

As per Year 5

Insert O for place holders.

o0

-

Dow

-0o|I0V W
N
-W|—=

—_ 4+
- —
“N|u 6O
-Juoew

O—— RO

a A N
sNWN O W

—|000—
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Subtraction



Taking aw.ay

Use physical ohjects, counters,

Cross out drown ohjects to show 7 -4 =3
Ones. cubes etc. to show how ohjects what has heen taken aw.ay. 16 -9 =7
can he token aw.ay.
b -2=2 x X X % A
e ° X . T“ 5 ".,. ) ; x —3‘
15-3 =
6 -4 =2 Stories will also bhe used to represent
Counting hack 0&& OO Put 13 in yowr head, count hack 4.
Moxe ohjects .away from the group,

Mowe the heads .along the head string

as you count hackw.ards.

line.
e T [ = ]
= 00008 .y m 2-3°2
- Lddug 5 1' 2r ; ; E t; '; t; 9r 15
Agueduct Primary School Maths Calculation Policy
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Find the

Difference

Compare objects and .amounts

m 7 ‘'Sevenis 3 more than four'
o 4

‘T am 2 years older than my

sister'
S Pencils

Pole

Loy objects to represent har model.

Count on wsing a rumber line to

8
—_—
0 ) 2 3 4 56 789 10420

Harnnah hasl2 sweets and her sister has 5.
How many more does Hannah have than her
Asister.?
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Lnclude

2SO

Part Part
Whale .maodel

Link to addition. Use PPW model to
model the irwerse.

If 10 is the whole and 6 is one of

the arts, what s the other part?

0 -6=4

%

4 ir )
\_ J
4 )
\_ J/

Use pictorial representations to show
the part.

Mowre to wsing numbers within the part whole
.model.
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Make /0. 14—9 16 - 8
13 -7 = i %
.M o RO
< 0 How marny do we take off first to get to 10?
How many left to take off?
13 -7
Jump bhack 3 first, then another 4.
Use ten s the stopping point.
Make |4 on the ten frame. Take &
away to make ten, then take .one
more away Ao that you have
taken 5.
B.ar .model
a0 3 2
nesing 2+ | €ED 111 HRE
rwerse 10 =8+ 2
operations. 10 =2+ 8
10 -2=28
> 2=3 0-8=2
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Regroup a ten
into ten .ones

Use a PV chart to show how to
change a ten into ten .ones, use the
term ‘take .and .make

20 - 4 =16

Partitioning to
subtract
wiithout
fzgx,o,upin,g .
‘Friendly

34 - 13 = 2| S P (e
— " |

Use Dienes to

show how to sy

partition the — -

numhber when

wiithout SRR

regrouping. ; -

Children draw representations of
Dienes and cross off.

g

0
00
43 - 21 = 22
13 -7 =
v\
3 4
I1I3-3=10
10 - 4 = 6

43 - 21 = 22
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M.ake ten
strategy

Progression
should he
crossing one ten,
LroAAIING More
than one ten,
crossing the
hundreds.

= Ea oy — — e —
2 s
+— ey
=] 28 30 31y
34 - 28

Use a bead bhar .or head strings
to model counting to next ten .and
the rest.

+4 +10 %3

76 80 90 93
‘counting on’ to find ‘difference’

Use .a nuumber line to .count .on to
next ten and then the rest.

a3 - 76 =17
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Viary the position of the answer and

4L7—32
Use hase 10 .or Numicon to .model

Drow representations to support

numhbers P = - - JI qQuestion.

[ , ” % 3 a 64%- 92 S35 W 98 % W ] '-]m
including: Expose children to missing numhber questions

o and vary the missing part of the
three digit BRRe @8 caleuwlation.
nuwmher + 11T
ones 111 B 678 = ? - |
thuee digit 688 - 10 =7
ruwumhbher + tens 678 = ? - 100
numhber +
hundreds
Column o =
subtraction A :1‘."57 Esssssssnn o Calculations L7-14=23
without 11 T D | BEE S oo &

. y EEENEEEENE] _rl _ 2o+ 4
regrouping - OrIaraTTn = > 06 +—
(friendly ile e [CIPR T
numbers) 11
R

Intermediate step may he needed to lead to
clear subtroction wnderstanding.
oA
S

i)
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Column
subtraction
with
regrouping

Begin with bhase 10 or Nuwmicon.
Mowve to pv counters, imodelling the
exchange of a ten into ten ones.
Use the phrase ‘exchange for
exchange.

45
29 Tens \ nes
gag@aad
) / 7 L]"]
4 /BHUI / )39; {@D
e Q
n oo
([ O — |
L) 07 1'a
i + = lb

Children may .draw hase ten .or PV
coumrnters and cross off.

Begin by partitioning into PV columns
836-254-582

Then mowve to formal method.

PF28-582=-146 1

L)

# 2 8
s 8 2
T
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Subtracting
tens and ones

Year 4 -

subtract with
up to b

Lntroduce decimal
subtraction
through context
of money

234 - 179

® | ®
OO0 ‘oooo

® 00
clelele)
®

Model process of exchange using
Numicon, hase ten .and then .move
to PV counters.

Children to drow pv counters .ond
show their exchange—see Y3

Year 5-
Subtract with
at least 4

digits,

money .and
Measures.

Subtract with
decimal v.alues,
of integers and
decimals .and
aligning the
decimal Up to 3

As per year 4.

Children to draw pv counters .and
show their exchange—see Y3

0

BN
- [2
2 8.9

o

'0
|12
2

Use zeros (0)

o
for 6 7
placeholders.
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Year 6— As per year k.

Children to drow pv counters .ond
show their exchange—see Y3  (If
needed)
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Douhbling

Numicon to .demonstrate doubling

double 4is 8
4x2=8

Drow pictures to show how to
double numbers

Double 4 is 8

mEE mm
[] DD

Partition .o number .and then double each part
hefore recomhbining it hack together.

16
/7 \
10 6

IH x2

20 , 12_ g

Counting in
multiples
(25, 55, 105)

Count the groups as children are
skip counting, children maoy use
their fingers as they are skip

DS —

b

e

Children make representations to

o | 2 o X 2 2 2. 2 2. 2 2
A R R AR R e o P DR i P — T
1© @loCcl@ oo vil@eelo od@ dodeglodi

2 B g€ 1o 2 % |6 &8 20

Count in multiples .of .o number .aloud.
Write sequences with multiples .of numbers.

2, 4, 6, 8,10

5,10, 15, 20, 25, 30

Programme of Study specifies the following ohjectives, howewer it does not require the explicit teaching of the

mathematical symhol of multiplication
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2 x 4 =8

A

A

Use different objects to .odd equal
GLrOUpPA.

prob There are 3 sweets in one bag.
How many sweets are in 5 bags

altogether?

3+3+3+3+3

® [ J - ® =15
@ @ :

® o ® ® .
& @ @

- - 7. A -
4 ) - W v ~
4 . ’

Moki [
groups and Draw QG toshow2x3=6
total P—— [:lxlj:g Drow .and .moke representations
Use manipulatives to create equal
GroUpA.
Repeated - ' e Use pictorial including number lines
addition r’ ' ' to solve problems. y&y g&

2+2+2+2+2=10

Write .addition sentences to describe .ohjects
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Understanding | Use .ohjects laid out in arrays to Drow representations .of arrays to 3 x 2=26
find the answers to 2 lots 5, 3 show understanding 2x 5 =10
artays lots of 2 ete.
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Partition .o number .and then double each part

Douhbling

Model doubling wsing dienes .and
PV courters.

h

Uall= N ]
Lla k]

N

BEE peE
GEE pgap

Drow pictures .and representations to
show how to double numbers

hefore recomhbining it hack together.

16
/7 \
10 6
IQ x2

20 , 12_ 5

Children showuld he .able to recall and wse multiplication .and division facts for the 2, 5 and 10 times times-tables.
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Counting in
multiples .of
2, 3, &4, 5,
10 f,r,om 0

(xzpeai’zd.
addition)

Count the groups as children are
skip counting, children moy use
their fingers as they are skip
counting. Use har models.

M

T (T (T

5+5+5+5+5+5+5+5=140

Number lines, counting sticks .and
bar models should he wsed to show
representation .of counting in
multiples.

f n\n all \A ’J"r.
\ Y/ U/ f WY G
o\ “ N WYl N

N 2 ‘/ D N ©

yf Y N o o d Y

-~ - il -~ -~ S
e N VN, SR A .
2 s 0 (H 20 s Jo

+3 +3 +3 +3
W\ 1 'l 1 1 '
M T T T[T T T T T (T T 7T [TT1T1T1]
0 15 20 b 30 35

Count in multiples .of .o number .aloud.

Write sequences with multiples .of numbers.
0, 2, 4, 6, 8,10
0, 3,6, 49, 12,15
o, 5,10, 15, 20, 25, 30

4 ¥ 3=
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Strategy
Multiplication

commutative

Create arrays using counters and
cuhes and Numicon.

r =
K _ 2090000
(X X XYY
(X X X XX
I—

Pupils should understand that .an
arroy can represent different
equations and that, as
multiplication is commutative, the
order of the multiplication does .not

Use representations of arroys to
explore commutativity.

Q

12 =3 x4 12=14 x3

Use an array to write
multiplication sentences and
reinforce repeated addition.

00000
00000
00000

9+5+5=15
3+3+3+3+3=15
o9x3=15
3x5=15
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(1< []=L[]

O0«0-0
i:z;ﬂwﬁ % —% ] % smwausmmt@o[f@fwnug sentences.
alongside
each other.
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Grid method,

progressing
to the f,o,rm,al
.method

Multiply 2
digit numbers
by | digit

Show the links with .arroys to first
introduce the .grid method.

|

I‘ 0 T A 1
§.. 0000080 000
‘gssssssssssss

Mowne onto hase ten to .mowve tow.ards
a more compact .method.

4 rows
of 10
4 rows
of3

%1

4 rows of 13

BEB8E|c
[efu]=]=]

0
0
5
=]

|

Mowre on to place yvalue counters to

show how we are finding groups of a
rumber. We are multiplying by 4 s0 we

need b4 rows
@ (@] W—
4x126
@ ‘ Calculations
® 1005 4x126
5 F : —@
—® @

Fill each row with 126.
Add up each column, starting with the
ones making any exchanges needed
Then you hove your answer.

@ © ®

® [COOG [ ]

® 1505

oM (00

O (9.0] oS

: 3
@
=

.=

Children can represent their w.ork
with place volue counters in a w.ay
They can draw the counters wsing
colowrs to show Adifferent amounts
or just use the circles in the different
shown helow .

Bar model are wsed to explore
missing ruumbers

4x[:|=20

Start with multiplying by .one digit numbers
and showing the clear addition alongside

the grid.
X 30 5
7 210 35

210 + 35 =245

Mowe forward to the formal written imethod.:
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Solve Three times as high, eight times s long

including ?x 5=20
missing 20 = ? =5

problems, 3 hats and 4 coats, how many Adifferent
integer outfits?
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Grid imethod As per year 3. As per year 3. As per year 3.
recap from year
3 for 2-digits
X I-digit.
Move to
oluing 3-
digit numbers
by |-digit. (Year
4)
Colwmn Children can continue to he
multiplication. supported by place value counters X 300 20 7 ‘
at this stage of multiplication. 4 |1200| 80 | 28 327
This is initially done where there X a
is no regrouping. 321 x 2 = 642 The grid imethod may be wused to
: show how this relates to a formal 28
written .method.
E & 80
‘ e 1200
: g 1308
It is important at this stage that | Bar modelling .and number lines can 3 2 Z
they alw.ays multiply the ones support learners when solving X 1L
first. The corresponding long prohlems with multiplication | 3 O 8
multiplication is .modelled alongside the formal written 1 2
alongside. methods.
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C,OL(‘mll, undreds ens AA 2JVJ.;O/U/S,
Mlbiodioation — x [300_J20 [7 | wemdp e
for 3 and 4 4 11200 | 80 28
digits x |
LGt
It is important .at this stage that they
alw.ays
Multiply the ones first. Children can
continue to be supported by ploce value
counters .at the stage of
multiplication. This initially done where
there is no regrouping. 32l x 2 =
642
Column Manipulatives may still be used — i
multiplication | with the .corresponding long il | K L1213
5|4 N
multiplication .modelled 21 ~ [ 6
alongside. A 7 U Q U (1234x6)
| 230 O uesaxto
19,744
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Remind. children that the single digit helongs
in the units column. Line up the .decimal
points in the gquestion and the answer.

I 9

3 .
3
3

X
2552
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Division



I have 10 cubes, can you
share them equally in 2
groups?

Children wse pictures .or shapes to
share quantities.

$ F &
$ $ $$

8 shared between 2 i#

12 shared between 3 is 4

12 shared hetween 3 is 4.

12 + 3 =4
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Division .as

grouping

GrOUpA.
Use cubes, counters, ohjects or
place value counters to .aid

10
EE)
~ ~ ~ i
1
L.....l.....XL.....xls.....ZI'J.....zlﬁo....:’lu.....zlfY

Use .number lines for grouping

FaPavara

0123456789 101112

3 3 > 3

12:3=4
Think .of the har as a whole.
Split it into the number of
groups you ore dividing by .and
work out how many w.ould be
within each group.

20

|

20+95=7
9x?2=20

28 +7 =4

Divide 28 into 7 groups. How many e
in each group?

Agqueduct Primary S.chool M.aths Calculation Policy

Last Updated: 28/2/22




Division .as

grouping

Use .cubes, counters, ohjects .or
place value counters to .aid

24 Adivided into groups of 6 = 4

96 =+ 3 =32

© © ©
0® 0@ @

o® 0® @

Continue to use har modelling to
aid solving division problems.

20

20+-95="
D X =20

How imany groups of 6 in 247
24 + 6 = 4

Division w.ith

arrays

Link division to multiplication by
.about the numhber sentences that

can he created.
Eg 15 +3 =25 5x 3=15
|15 +5 =23 3x 5=15

Drow an array .and wse lines to
split the arroy into groups to .make
multiplication .and division sentences

Find the irwerse of multiplication and division

sentences. 7 x 4 = 28

Lox 7 =28
28 +7 =4
28 + 4 =7
28 =7 x b4
28 = 4 x 7
L=28+7
7=28+4
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Division
with
remainders.

Divide ohjects bhetween groups
and see how .much is lzf,t ONRIr

14 + 3 =

&5 #8 £8
& 28 28

=
8

Jump forw.ard in equal jumps on
a number line then see how

many m.o,rzy,ou,neexi,tojwbp,to
find a remainder.

AAVA N

Drow dots and group them to
show .a remainder.

HOOOL

remainder

5s in 407

0 5 10 15 20 25 30 35 40

W% = 6 sixes with

0 6 12 18 24 30 36 38
rs, when it becomes inefficient to count in single my

mainder

orded using known facts.

Complete written divisions and show the
remainder using .

29 + 8 = 3 REMAINDER 5
P T 1 T

dividend divisor quotient remainder
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Divide .at
least 3 digit
numbers. by

| digit.

Short

Div.ision

9€+3

Tens Units

3 2

oG ee

e e e

OO0 0 e

COee e e

{4223

Use place value counters to divide
using the bus stop method .alongside

Start with the higgest place ~value, we
are sharing 40 into three groups. We
can put | ten in each group and we

L2 + 3=

have | ten left ower.

® 00

(0]

()

(©)

We exchange this ten for ten .ones and
then share the .ones equally among the

GrOMUpA.

10

©

answer is 4.

8585

(IT T M

We look how much in | group 5o the

Students can continue to use
drown diagrams with dots .or
numbers into equal .groups.

‘0O\/OOYD O\
OON\OCAOO

Encourage them to mowe
Adivide .more efficiently.

With no remainder.

2 1 8
3
418 7 2
M.oxve onto divisions with a remainder.
8 6 r 2
3
5‘4 3 2
Finally .mowve into decimal places to
1 4 6
16 21
3 5|5 1 1 0
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Div.ision

Divide
Maultiply
Subtract

Bring Dowmw.n

425 <+ 25
e

divisor

dividend

4+-25=20
remainder 4

The first digit of the dividend (4) is divided by the divisor.

The whole number result is placed at the top. Any remainders are
ignored at this point.

0
25425 S %020 The answer from the first operation is multiplied by the divisor.
E The result is placed under the number divided into.
0
25425
0 4-0=4 Now we subtract the bottom number from the top number.
4
0
25425
0J Bring down the next digit of the dividend.
42
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Div.ision

Divide
Maultiply
Subtract

Bring Dowmw.n

0
25425
0l

42 - 25=1 . ) .
remainder 17 Divide this number by the divisor.
42
01
25425 The whole number result is placed at the top. Any remainders are
E‘L ignored at this point.
42
01
25425
E‘L 25 x 1 = 25 The answer from the above operation is multiplied by the
g% divisor. The result is placed under the last number divided into.
01
25425
04
42 42 — 25 = 17 |Now we subtract the bottom number from the top number.
25
17
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Div.ision

Divide
Maultiply
Subtract

Bring Dowmw.n

Bring down the next digit of the dividend.

175+ 25=7
remainder 0

Divide this number by the divisor.

The whole number result is placed at the top. Any remainders are
ignored at this point.

017
25(425
0d

42
25

173
173

25 x 7 =175

The answer from the above operation is multiplied by the
divisor. The result is placed under the number divided into.
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Long

Div.ision

Divide
Maultiply
Subtract

Bring Dowmw.n

Long
division
with

017
25[425
0d

42
25
175
175
000

175 - 175=0

Now we subtract the bottom number from the top number.

be 17

There are no more digits to bring down. The answer must

remainders.

Any ~value left oner would he the remainder.
E.,g. 435 + 25 whzrz/w,eﬁkip,to Lhzfm,alxstzp

017
25/435
o
43
2 185 — 175 = 10 |Now we take away the bottom number from the top number.
185 _
175
01
There is still 10 left over but no more numbers to bring
down.
017:10
25/435 With a long division with remainders the answer is expressed
2‘ as 17 remainder 10 as shown in the diagram
43
25,
185
175 Answer: 435 - 25 =17 R 10
010
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